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dqy iz’uksa dh la[;k % 20 dqy i`"Bksa dh la[;k % 08 

Total No. of Questions: 20  Total No. of Pages: 08 

gk;j lsds.gk;j lsds.gk;j lsds.gk;j lsds.Mjh] ijh{kk 2016Mjh] ijh{kk 2016Mjh] ijh{kk 2016Mjh] ijh{kk 2016    

120 

fo"k; %fo"k; %fo"k; %fo"k; % HkwxksyHkwxksyHkwxksyHkwxksy    

Subject: GEOGRAPHY    

(Hindi & English Version) 

le; % 03 ?k.Vs  iw.kkZad % 75 

Time: 03 Hours  Maximum Marks: 75 

funsZ’k %&funsZ’k %&funsZ’k %&funsZ’k %&        

    (i)    lHkh iz’u vfuok;lHkh iz’u vfuok;lHkh iz’u vfuok;lHkh iz’u vfuok;ZZZZ    gSaAgSaAgSaAgSaA    
 (ii)    iz'u&i= esa fn;s x;s funsZ’k lko/kkuhiwoZiz'u&i= esa fn;s x;s funsZ’k lko/kkuhiwoZiz'u&i= esa fn;s x;s funsZ’k lko/kkuhiwoZiz'u&i= esa fn;s x;s funsZ’k lko/kkuhiwoZd i<+dj iz’uksa ds mÙkj fyf[k;sd i<+dj iz’uksa ds mÙkj fyf[k;sd i<+dj iz’uksa ds mÙkj fyf[k;sd i<+dj iz’uksa ds mÙkj fyf[k;sAAAA    
 (iii)    iz'u Øekad 1iz'u Øekad 1iz'u Øekad 1iz'u Øekad 1    lslslsls    4 rd oLrqfu"B iz’u gS4 rd oLrqfu"B iz’u gS4 rd oLrqfu"B iz’u gS4 rd oLrqfu"B iz’u gSaa aaAAAA    
 (iv)    iz’u Øekad 5 ls 20 rd vkUrfjd fodYi fn;s gSiz’u Øekad 5 ls 20 rd vkUrfjd fodYi fn;s gSiz’u Øekad 5 ls 20 rd vkUrfjd fodYi fn;s gSiz’u Øekad 5 ls 20 rd vkUrfjd fodYi fn;s gSaa aaAAAA    
 (v)    iz’u Øekad 5 ls 8 rd izRiz’u Øekad 5 ls 8 rd izRiz’u Øekad 5 ls 8 rd izRiz’u Øekad 5 ls 8 rd izR;sd iz’u ds fy;s 2 vad fu/kkZfjr gSa ,oa izR;sd iz’u dk ;sd iz’u ds fy;s 2 vad fu/kkZfjr gSa ,oa izR;sd iz’u dk ;sd iz’u ds fy;s 2 vad fu/kkZfjr gSa ,oa izR;sd iz’u dk ;sd iz’u ds fy;s 2 vad fu/kkZfjr gSa ,oa izR;sd iz’u dk 

mÙkj 30 'kCnksa esa fy[kuk gSAmÙkj 30 'kCnksa esa fy[kuk gSAmÙkj 30 'kCnksa esa fy[kuk gSAmÙkj 30 'kCnksa esa fy[kuk gSA    
 (vi)    iz’u Øekad 9 ls 12 rd izR;sd iz’u ds fy, 3 vad gSiz’u Øekad 9 ls 12 rd izR;sd iz’u ds fy, 3 vad gSiz’u Øekad 9 ls 12 rd izR;sd iz’u ds fy, 3 vad gSiz’u Øekad 9 ls 12 rd izR;sd iz’u ds fy, 3 vad gSaa aa    ,oa izR;sd iz’u dk mÙkj ,oa izR;sd iz’u dk mÙkj ,oa izR;sd iz’u dk mÙkj ,oa izR;sd iz’u dk mÙkj 

50 ls 75 'kCnksa esa fy[kuk gSA50 ls 75 'kCnksa esa fy[kuk gSA50 ls 75 'kCnksa esa fy[kuk gSA50 ls 75 'kCnksa esa fy[kuk gSA    
 (vii)    iz’u Øekad 13 ls 17 rd izR;sd iz’u ds fy;s 4 vad iz’u Øekad 13 ls 17 rd izR;sd iz’u ds fy;s 4 vad iz’u Øekad 13 ls 17 rd izR;sd iz’u ds fy;s 4 vad iz’u Øekad 13 ls 17 rd izR;sd iz’u ds fy;s 4 vad gSgSgSgSaa aa    ,oa izR;sd iz’u dk mÙkj ,oa izR;sd iz’u dk mÙkj ,oa izR;sd iz’u dk mÙkj ,oa izR;sd iz’u dk mÙkj 

75 ls 120 'kCnksa essa fy[kuk gSA75 ls 120 'kCnksa essa fy[kuk gSA75 ls 120 'kCnksa essa fy[kuk gSA75 ls 120 'kCnksa essa fy[kuk gSA    
 (viii) iz’u Øekad 18 ls 20 rd izR;sd iz’iz’u Øekad 18 ls 20 rd izR;sd iz’iz’u Øekad 18 ls 20 rd izR;sd iz’iz’u Øekad 18 ls 20 rd izR;sd iz’u ds fy;s 5 vad gSu ds fy;s 5 vad gSu ds fy;s 5 vad gSu ds fy;s 5 vad gSaa aa    ,oa izR;sd iz’u dk ,oa izR;sd iz’u dk ,oa izR;sd iz’u dk ,oa izR;sd iz’u dk     mÙkj mÙkj mÙkj mÙkj 

120 ls 150 esa fy[kuk gSA120 ls 150 esa fy[kuk gSA120 ls 150 esa fy[kuk gSA120 ls 150 esa fy[kuk gSA    

INSTRUCTIONS: -   

 (i) All questions are compulsory.   

 (ii) Read the instructions of the question paper carefully and answer the questions.   

 (iii) Question Nos. 1 to 4 are objective type.  

 (iv) Internal options are given in Q. Nos. 5 to 20.  

 (v) Question Nos. 5 to 8 are assigned 2 marks each and answer should be given in 

about 30 words each.  

 (vi) Question Nos. 9 to 12 are assigned 3 marks each and answer should be given 

in 50 to 75 words each.  

 (vii) Question Nos. 13 to 17 are assigned 4 marks each and answer should be given 

in 75 to 120 words each.  

 (viii) Question Nos. 18 to 20 are assigned 5 marks each and answer should be given 

in 120 to 150 words.  
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oLrqfu"B iz’u & 

iz-1 fjDr LFkkuksa dh iwfrZ dhft, %&         ¼5½¼5½¼5½¼5½ 

 Fill in the blanks:- 

 (i) ekuo Hkwxksy ds tUenkrk-------------------------------------------------------------------------------------------------------------------------gSaA 

  The father of Human Georaphy is …………………………………..………………………………. 

 (ii) ckyd@ckfydkvksa dh leku e`R;q okys ns’k esa fyaxuqikr ------------------------------------------------gksrk gSA 

  In the equal death rate country the sex ratio is …….……………………………………………… 

 (iii) vkokl euq"; dh ---------------------------------------------------------------------------------------------------------------------------------------gSA 

  The settlement is the identification of ………………………………..……………………..Human.  

 (iv) fo’o dk lcls vf/kd twV --------------------------------------------------------------------------------ns’k esa mRié gksrk gSA 

  …………………………………………………..……..has highest production of Jute in the world.  

 (v) lkbcsfj;k dh thou js[kk --------------------------------------------------------------------------------------------------------------------gSA 

  The life line of saiberia is …………………………………………………………………………. 

iz-2 lgh tksM+h cukb;s %&           ¼5½¼5½¼5½¼5½    

   v          c 

 (i) Hkkjr dk lcls de tula[;k    (i) bykgkckn 

  okyk jkT; 

 (ii) /kkfeZd uxj      (ii) ckEcs gkbZ 

 (iii) isVªksfy;e       (iii) dkanyk 

 (iv) dPN dh [kkM+h esa fLFkr cUnjxkg  (iv) ia[kk izfr:i  

 (v) MsYVkbZ izns’k dh xzkeh.k cLrh    (v) v:.kkpy izns’k 

   A       B 

 (i) The lowest populated state        (i) Allahabad  

 (ii) Religious town    (ii) Bombay high 

 (iii) Petroleum      (iii) Kandla  

 (iv) Port situated at gulf of kuchh   (iv) Fan pattern  

 (v) The rural settlement in the   (v) Arunachal Pradesh  

  Delta region  
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iz-3 lgh fodYi dk p;u djsa %&         ¼5½¼5½¼5½¼5½    

 (i) ty iznw"k.k ls dkSu&lh chekjh gksrh gSa%& 

  ¼v½ gStk  

  ¼c½ VkbZQkbM 

  ¼l½ ihfy;k 

  ¼n½ mijksDr lHkh 

  Water pollution causes which disease? 

  (a) Cholera  

  (b) Typhoid  

  (c) Jaundice  

  (d) All of the above  

 (ii) Hkkjr ds if’peh rV ij fLFkr ,d izkÑfrd iksrkJ; gS%& 

  ¼v½ dkanyk 

  ¼c½ eqEcbZ 

  ¼l½ Ugkok’ksok 

  ¼n½ dksphu  

  One natural Seaport at India western sea-cost -  

  (a) Kandala  

  (b) Mumbai  

  (c) Nhavasheva  

  (d) Cochin  

 (iii) gqxyh unh ds nksuksa fdukjs fLFkr vkS|ksfxd izns’k dk uke gS%& 

  ¼v½ eqEcbZ &iw.ks  

  ¼c½ NksVk ukxiqj  

  ¼l½ xqtjkr  

  ¼n½ gqxyh  

  Industrial Estate situated at both of the banks of Hugli river:-   

  (a) Mumbai –Pune industrial area   

  (b) Chota Nagpur  

  (c) Gujrat    

  (d) Hugli  
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 (iv) xzkeh.k {ks= ds yksxksa dk izkFkfed O;olk; gksrk gS %&  

  ¼v½ Ñf"k o m|ksx  

  ¼c½ Ñf"k o O;olk;   

  ¼l½ Ñf"k o i'kqikyu  

  ¼n½ m|ksx o lsok,a 

  Primary Occupation of rural area:-   

  (a) Agriculture and Industry   

  (b) Agriculture and Business  

  (c) Agriculture and Animal Husbandry  

  (d) Industry and services  

 (v) f’keyk ,d ----------------------------------------- uxj gSA 

  ¼v½ /kkfeZd  

  ¼c½ izk’kklfud 

  ¼l½ LokLF; 

  ¼n½ f’k{kk uxj  

   Shimala is ………………………….city.  

  (a) Religious  

  (b) Administrative  

  (c) Health Resorts  

  (d) Educational  

iz-4 izR;sd dk ,d okD; esa mÙkj nhft, %&         ¼5½¼5½¼5½¼5½ 

 Answer in one sentence each:- 

  (i) fdl [kfut dks ^tSd vk¡Q vky VªsM~l^ dgrs gSa\  

   Which mineral is known as “Jack of all trades”?  

  (ii) fHkykbZ ,oa te’ksniqj fdl izdkj ds uxj dk mnkgj.k gS\ 

   Bhilai and Jamshedpur are example of which kind of city?  

  (iii) Hkkjr dk xzkMa Vªad jksM fdlus cuok;k\  

   Who built the Grand Trunk Road?  

  (iv) ,;j bafM;k D;k gS\ 

   What is Air India? 

  (v) /ofu iznw"k.k fdls dgrs gSa\  

   What is the sound pollution?  
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iz-5 ekuo Hkwxksy dh dksbZ ,d ifjHkk"kk fyf[k;sA         ¼2½¼2½¼2½¼2½ 

 Write any one definition of Human Geography.  

vFkok@vFkok@vFkok@vFkok@OR 

 ekuo Hkwxksy fo"k; {ks= ds nks fcUnq fyf[k;s\  

 Write any two points of subject matter of Human Geography.  

iz-6 uxjh; cLrh dh nks fo’ks"krk;sa fyf[k;sA         ¼2½¼2½¼2½¼2½ 

 Write any two characteristics of Urban Settlement.  

vFkok@vFkok@vFkok@vFkok@OR 

 xzkeh.k vf/kokl fdls dgrs gSa\ 

 What is a rural settlement?   

iz-7 uxjh; iqjok ;k iYyh fdls dgrs gaS\         ¼2½¼2½¼2½¼2½ 

 What is a Urban Hamlet?   

vFkok@vFkok@vFkok@vFkok@OR 

 ^rhjuqek izfr:i^ cLrh dk js[kkfp= cukb;sA 

 Draw a diagram of the Arrow Pattern settlement.   

iz-8 ok;q iznw"k.k ds dksbZ nks dkj.k fyf[k;sA         ¼2½¼2½¼2½¼2½ 

 Write any two reasons for Air Pollution.  

vFkovFkovFkovFkok@k@k@k@OR 

 /ofu iznw"k.k de djus ds dksbZ nks mik; fyf[k,A 

 Write any two methods to check noise pollution.   

iz-9 gfjrØkfUr fdls dgrs gSa\         ¼3¼3¼3¼3½½½½ 

 What is Green Revolution?  

vFkok@vFkok@vFkok@vFkok@OR 

 ouksa ls gksus okys rhu izR;{k ykHk fyf[k,A 

 Write the three visible advantages of forests.   

iz-10 ^eqEcbZ gkbZ^ D;ksa izfl) gS\         ¼3¼3¼3¼3½½½½ 

 Why Mumbai-high is famous?   

vFkok@vFkok@vFkok@vFkok@OR 

 [kfutksa dk laj{k.k D;ksa vko’;d gS\ dksbZ rhu dkj.k fyf[k,A 

 Why mineral conservation is important? Write the three reasons of mineral conservation.  

iz-11 Hkkjr dh lM+d ifjogu dh rhu leL;k,¡ fyf[k,A         ¼3¼3¼3¼3½½½½ 

 Write the three main problems of road transport.  
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vFkok@vFkok@vFkok@vFkok@OR 

 Hkkjr dh rhu izeq[k ikbi ykbu ifjogu ds uke fyf[k,A 

 Write the of name of three important pipeline transport in India.  

iz-12 fons’kh O;kikj fdls dgrs gSa\          ¼3¼3¼3¼3½½½½ 

 What is the foreign trade?  

vFkok@vFkok@vFkok@vFkok@OR 

 vUrjkZ"Vªh; O;kikj dks izHkkfor djus okyh rhu n’kkvksa dk o.kZu dhft,A 

 Explain the three conditions affecting international trade.   

iz-13 ,f’k;k esa tula[;k o`f) ds dksbZ pkj dkj.k fyf[k;sA         ¼4¼4¼4¼4½½½½ 

 Write any four causes for the growth of population in Asia.     

vFkok@vFkok@vFkok@vFkok@OR 

 ^tUe nj^ vkSj e`R;q nj dks ifjHkkf"kr dhft;sA 

 What is meant by ‘Birth Rate and ‘Death Rate?  

iz-14 lapkj lk/kuksa ds dksbZ pkj egRo fyf[k,A         ¼4¼4¼4¼4½½½½ 

 Write any four characteristics  of means of communication.   

vFkok@vFkok@vFkok@vFkok@OR 

 jsy ifjogu ds pkj ykHk fyf[k;sA 

 Write any four advantages of Rail Transportation.  

iz-15 y?kq ,oa dqVhj m|ksxksa esa dksbZ pkj vUrj fyf[k,A         ¼4¼4¼4¼4½½½½ 

 Write any four difference between small scale and cottage Industries.  

vFkok@vFkok@vFkok@vFkok@OR 

 ^ekuo ds izkFkfed fØ;kdykiksa dh dksbZ pkj fo’ks"krk;sa fyf[k;sA 

 Write any four characteristics of primary human activities. 

iz-16 Hkkjr esa uxjh; tula[;k o`f) ls mRié dksbZ pkj leL;k;sa fyf[k;sA       ¼4¼4¼4¼4½½½½ 

 Write any four problems of the urban population growth in India.  

vFkok@vFkok@vFkok@vFkok@OR 

 Hkkjrh; tula[;k ds LFkkukUrj.k ds dksbZ pkj dkj.k fyf[k;sA 

 Write any four causes of migration of population in India.   

iz-17 Hkkjr esa pkoy mRiknu ds fy;s vko’;d HkkSxksfyd n’kkvksa dks fyf[k;sA       ¼4¼4¼4¼4½½½½ 

 Write Geographical conditions required for rice production in India.      
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vFkok@vFkok@vFkok@vFkok@OR 

 Hkkjrh; eǹk dh dksbZ pkj leL;k;sa fyf[k,A 

 Write any four problems of Indian Soils.   

iz-18 thodksiktZu Ñf"k vkSj O;kikfjd Ñf"k esa dksbZ ikap vUrj fyf[k;sA       ¼¼¼¼5555½½½½ 

 Write any five differences between subsistence agriculture and commercial farming. .     

vFkok@vFkok@vFkok@vFkok@OR 

 ckDlkbM dh mi;ksfxrk ,oa Hkkjr esa blds izkfIr {ks+=ksa dks fyf[k;sA 

 Write the uses of Bauxite and their production areas.   

iz-19 fn;s x;s fo’o ds ekufp= esa fuEufyf[kr dks n’kkbZ;s %&         ¼¼¼¼5555½½½½    

    (i) Lost ugj 

    (ii) Vªk¡llkbZcsfj;u jsyekxZ 

 (iii) eqEcbZ ls dksydkrk tyekxZ 

 (iv) flMuh uxj 

 (v) U;wQkm.MyS.M }hi 

 Show the following in the out line map of the world:-  

 (i) Swez canal  

 (ii) Trans Siberian Railway   

 (iii) Mumbai to Kolkatta waterways.  

 (iv) Sidney city 

 (v) Newfoundland Island  

vFkok@vFkok@vFkok@vFkok@OR 

 fn;s x;s fo’o ds ekufp= esa fuEufyf[kr dks n’kkbZ;s %&             

    (i) iukek ugj  

    (ii) dsiVkmu ls esycksuZ tyekxZ 

 (iii) ikye ¼fnYyh½ gokbZ vM~Mk 

 (iv) vkLVsªfy;k Vªkal dkfUVus.Vy jsyekxZ 

 (v) flaxkiqj  

 Show the following in the out line map of the world:-  

 (i) Panama Canal   

 (ii) Cape town to Melbourne water ways.  

 (iii) Palam (Delhi) Airport   

 (iv) Australia Trans-continental Railway Route.  

 (v) Singapore    
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iz-20 nkeksnj ?kkVh esa vkS|ksfxd lewghdj.k ds ikap dkj.k fyf[k,A         ¼¼¼¼5555½½½½ 

 Write the five factors of Grouping of Damodar Valley industries?   

vFkok@vFkok@vFkok@vFkok@OR 

 m|ksxksa dh LFkkiuk dks izHkkfor djus okys ikap dkj.k fyf[k;sA 

 Write the five factors affecting Industrial localisation. 

 

……………………………………….. 

 


